10/20 Math 4990: Generating functions Ch.8 (1st half) Reminders: " HWH3 posted, due 10/27 · Should have Midterm I back soon, if not already We've almost come to the end of our discussion of enumeration of basic combinatorial structures. Wo'll end by explaining one of the most powerful techniques: generating functions. G.J.'s can be mysterious... Let's start w/an example. Exi: Fibonacci Numbers Define a sequence of His Fn, não by $F_0 = 0$, $F_1 = 1$, $F_n = F_{n-1} + F_{n-2}$, n = 20,1,1,2,3,5,8,13,...

The recurrence (*) let's us write: $F(X) = \sum_{n \ge 0} F_n x^n = 0 + X + \sum_{n \ge 2} (F_{n-1} + F_{n-2}) x^n$ = X + Z F... X + Z F... X h $= \chi + \sum_{n=1}^{n+1} F_n \chi^{n+1} + \sum_{n=0}^{n+1} F_n \chi^{n+2}$ = $\chi + \chi F(\chi) + \chi^2 F(\chi)$ $S_{0} = \chi^{2}F(x) - \chi F(x) + F(x) = \chi$ $\Rightarrow \left| F(x) = \frac{x}{1 - x - x^2} \right|$ OK... but 50 what? We found a closed expression for FCXI, but what does that tell us about the #'s Fn? Actually, ... it tells us a lot!

Remember from basic calculus the
geometric series
$$\frac{1}{1-r} = 1 + r + r^2 + r^3 + ...,$$

So $\frac{1}{1-c_X} = 1 + c_X + c^2 x^2 + ... = \sum_{n \ge 0} c^n x^n,$
i.e., $\frac{1}{1-c_X}$ is the generating fn. for powers of c.
But how is that useful for the Fibts's
 $W/F(x) = \frac{x}{1-x-x^2}$?
Well first, let's observe
 $1-x - x^2 = (1 - \frac{1+\sqrt{5}}{2}x)(1 - \frac{1-\sqrt{5}}{2}x)$
How did 1 find this...?
So $F(x) = \frac{x}{(1-q_X)(1-q_X)}$, but still
don't see the convection to geometric
Series until we remember Partial fractions:

$$\frac{\chi}{(1-\varphi\chi)(1-\psi\chi)} = \frac{A}{1-\varphi\chi} + \frac{B}{1-\psi\chi}$$

$$\Rightarrow \chi = (1-\psi\chi)A + (1-\varphi\chi)B$$

$$= (A+B)1 + (-\psi A - \varphi B) \times$$

$$\Rightarrow A+B=0, -\psi A - \varphi B = 1$$

$$\cdots \Rightarrow A = \frac{1}{\sqrt{5}}, B = -\frac{1}{\sqrt{5}},$$
So finally,





So extracting coefficient of x, stock $F_n = \frac{1}{\sqrt{5}} \left(\frac{1+\sqrt{5}}{2} \right)^n - \frac{1}{\sqrt{5}} \left(\frac{1-\sqrt{5}}{2} \right)^n$ formulal $I_1 \in \mathbb{R}^m$

In particular, $F_n \sim \frac{1}{\sqrt{5}} \left(\frac{1+\sqrt{5}}{2} \right)^n AS n \rightarrow$

This same basic technique will work to
give exact formula for any linear recurrence

$$2 \cdot g_{-1}$$
 an = 2 an-1 + an-2 - 3 an-3 + 5
(will produce anwarksheet...)
Hopefully starting to see power of generating functions?
What if we have multiple generating functions?
How can they interact?
 $A(x) = \sum_{n \ge 0} a_n x^n$, $B(x) = \sum_{n \ge 0} b_n x^n$
 $A(x) = \sum_{n \ge 0} (a_n + b_n) x^n \kappa$ meaning is
pretty clear!
What about $A(x) B(x)$?
 $A(x)B(x) = (a_0 + a_1x + a_2x^2 + ...) (b_0 + b_1x + b_2 x^2 + ...)$
 $= (a_0 + b_0) 1 + (a_0 b_1 + a_1b_0)x + (a_0b_2 + a_1b_1 + a_2b_0)x^2$.
 $= \sum_{n \ge 0} (\sum_{i=0}^{2} a_i b_{n-i}) x^n \kappa$ meaning
 $i \le 0$

Let's see an example of using products of gs.'s:
Let PEK(M) := # Partitions of n w/
largest Part = K
Prop.
$$\sum_{n \geq 0} P_{sk}(n) \times^{n} = \prod_{i=1}^{k} \frac{1}{1 - \chi^{i}}$$

PS. $\frac{1}{1 - \chi} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$
PMC: PEK(M) also = # partitions of n into = k parts
Cor $\sum_{n \geq 0} p(n) \times^{n} = \prod_{i=1}^{\infty} \frac{1}{1 - \chi^{i}}$
PS. $\frac{1}{1 - \chi^{i}} \cdot \frac{1}{1 - \chi^{i}}$

Generating functions are also useful for
proving partition identifies.
Ex. Let
$$On = #$$
 partitions of n into
 $odd parts$
 $d_n = # partitions on n into
 $distinct parts$
 $O(x) := \sum_{n \ge 0} nx^n = \frac{1}{1-x} \cdot \frac{1}{1-x^3} \cdot \frac{1}{1-x^5} \cdot \cdots$
 my^n
 $D(x) := \sum_{n \ge 0} nx^n = (1+x)(1+x^2)(1+x^3) \cdot \cdots$
 ny^n
 $D(x) := \sum_{n \ge 0} d_n x^n = (1+x)(1+x^2)(1+x^3) \cdot \cdots$
 my^n
 $D(x) := \sum_{n \ge 0} d_n x^n = (1-x^2) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x^2) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1+x^2)(1+x^3) \cdot \cdots \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1+x^2)(1+x^3) \cdot \cdots \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1+x^2)(1+x^2) \cdot (1+x^3) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x^2) \cdot (1-x^2) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x^2) \cdot (1-x^2) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x^2) \cdot (1-x^2) \cdot (1-x^3) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x^2) \cdot (1-x^2) \cdot (1-x^4) \cdot (1-x^4) \cdot (1-x^4) \cdot (1-x^4)$
 $= (1+x) \cdot (1-x) \cdot (1-x^2) \cdot (1-x^4) \cdot ($$









Extracting coeff. of x"

=
$$2 c_n = \begin{cases} 1 & \text{if } n = 0 \\ 2^n - 2^{n-1} & \text{if } n \ge 1 \\ 2^{n-1} & \sqrt{2^{n-1}} \end{cases}$$

We saw this before too!

Fun to see what other results we proved earlier can be proved with 9. f.'s.

Now let's take a break... And when we come back We can practice using generating functions in breakout groups with today's work sheet.